Multiplication (J)

Calculez chaque produit.

3 X 3= 2 X 4= bx 4= 4x4=
1 x4= HbX 2= b X 2= 1 x4 =
4x4= 3x 1= 1 x1= 2X b=
4x3= 2 x4 = 2 X 2= 4x1=
HX 3= 2x1= 4 x4 = 3 X 2=
4x4= 2X b= 4x4= 4x5=
HXx 4= 2 x4 = I3x1= 4x2=
4x5= 3 X 4= 3X2= 4x2=
HX 2= 3 X 2= 4x1= 2X b=
DX b= HX 2= 3x1= 1 x1=
3 X 4= 2X b= 1 x5 = 1 x3=
DX D= 4x2= 2 X 2= 4x3=
2x1= 3 X 2= 4x1= 2x 1=
3 X 3= 1 x3= 4x1= 3 X 2=
1 x3= 3 X 2= 4x1= bX3=
HX 2= SX 4= 3x1= 1 x2=
1x1= 1 x5= 4x3= b X 4=
1 x5= 4x1= 1 x3= bx1=
1 x1= 1x1= 4x1= 2X 3=
3xX 1= 3 X 2= 1 x2= 2X b=
2x1= S X 2= 4x2= bx2=
1 x2= 1 x5= 2x 1= 1 x2=
3 X b= 2X 2= 2X 3= 2X b=
4x1= 2x 1= 3 X 3= 1 x3=
4x1= 1 x3= bx1l= 3X 4=
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Multiplication Solutions (J)

3x3=9
1 x4=14
4x4=16
4x3=12
bx3=15
4x4=16
5 x4 =20
4 x5=720
5x2=10
bxXbH=25
3x4=12
bXb=125
2x1=2
3x3=9
I x3=3
5 x2=10
Ix1=1
I x5=05
Ix1=1
3x1=3
2x1=2
1 x2=2
3xXbH=15
4x1=4
4x1=4

Calculez chaque produit.

2x4=28
5x2=10
3x1=3
2X4=28
2x1=2
2x5=10
2xX4=28
3X4=12
3X2=0
Ox2=10
2x5=10
4x2=28
3X2=0
I1x3=3
3X2=0
5 x4 =20
I x5=5
4x1=4
Ix1=1
3X2=0
5x2=10
I x5=5
2xX2=4
2x1=2
I1x3=3

5 x4 =20
5x2=10
Ix1=1
2x2=4
4x4=106
4x4=16
3x1=3
3X2=0
4x1=4
3x1=3
I x5=05
2x2=4
4x1=4
4x1=4
4x1=4
3x1=3
4x3=12
I x3=3
4x1=4
I x2=2
4x2=8
2x1=72
2X3=06
3xX3=9
O5x1=5

4x4=16
1x4=14
2x5=10
4x1=4
3X2=0
4 x5=20
4x2=8
4x2=28
2x5=10
I1x1=1
1x3=3
4x3=12
2x1=2
3X2=06
bx3=15
1x2=2
5x4=20
S5x1=5
2X3=06
2x5=10
5x2=10
1x2=2
2x5=10
1x3=3
3X4=12
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